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I . Multiple choice 20 %

1.

Products for export should be adapted ~ foreign market needs.
A. for B. on C. to D. with
. International business is the worldwide =~ of goods and services among nations.
A. exchange B. change C. purchase D. export
We hope that in your own ~ you will make arrangements to clear your account without

further delay.

A. benefits B. advantages C. interests D. goods
. Our prices are practical and reasonable. There is not much room  bargaining.
A. from B. for C. at D. on
. They have a residue stock of 3,000 dozen of the products which they are selling ~ at greatly

reduced prices.

A. out B. of C. off D. over
When an exporter quotes a price  a product, he is making an offer.
A. for B. of C. in D. with
. It’s no good an exporter obtaining a large order if he can’t it
A. full B. fulfill C. fill D. do
. Even if your product has tremendous advantage =~ that of all your competitors you still have

to tell people it exists.

A. than B. to C. beyond D. over

02635# 22 AYLIERI 25 1 (6 1)



9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

With a price list giving the prices and terms of product, the prospective customers have a fair
idea of the prices and costs applicable to them.
The word prospective can be best explained by :
A. old B. regular C. frequent D. potential
Under D/A terms, when a bill is | the bank refuses to give the buyer the bill of lading

giving title to the goods.

A. honored B. dishonored C. accepted D. presented

The drawer is the person who out the bill to a certain person demanding a certain sum of
money.

A. makes B. takes C. draws D. shows

If the seller conforms exactly to the specific conditions set in the letter of credit, the

bank promises.
A. forth B. to C. from D. back

Smaller exporters who may not be able to afford to have their capital tied for three

months while a ship completes its voyage.

A. to B. up C. on D. in
This product is particularly subject ~ breakage and heat damage.

A. to B. from C. in D. against
New duties were imposed ~ tobacco.

A. against B. at C. for D. on
The two parties have reached a ~ on this issue.

A. consensus B. consent C. census D. consort
The  over the issue of agricultural products involved the two countries into a trade war.
A. difference B. quarrel C. debate D. dispute
Several countries put a boycott ~this product.

A. of B. on C. under D. about
If your quotations are suitable, we will be able to ~ orders with you.

A. put B. place C. accept D. lay

A documentary credit often referred to as 1/C is a letter addressed to the seller as
engagement acting on behalf of a customer.

A. written B. writing C. to write D. be written
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II. Reading comprehension 10 %

Competition refers to, in economics, conditions that are present in markets where buyers and
sellers interact to establish prices and exchange goods and services. Economic competition is the
means whereby the self-interest of buyers and sellers act to serve the needs of society as well as those
of individual market participants. Society is served when the maximum amount of goods is produced
at the lowest possible prices.

The theoretical ideal developed by economists to establish the conditions under which
competition would achieve maximum effectiveness is known as “perfect” competition. Although
rarely possible, perfect competition, as a concept, provides a useful benchmark for evaluating
performance in actual market. Perfect competition exists when (1) an industry has a large number of
business firms as well as buyers; (2) the firms on the average are small; and (3) buyers and
sellers have complete knowledge of all transactions within the market. The practical significance of a
large number of small firms and many buyers is that the power to influence the behavior of the
participants in the market is thoroughly dispersed. In other words, no single person or business has
the power to dictate the terms on which the exchange of goods and services take place. Market
results then are truly impersonal. Under conditions of perfect competition, economists contend,
goods and services would be produced as efficiently as possible—that is, at the lowest possible price
and cost—and consumers would get the maximum amount of the goods and services they desire.

The absence of perfect competition in most markets led to a search for a more realistic
alternative to evaluate performance in specific instances. Among the best-known alternatives is the
concept of “workable” competition, developed by the American economist John M. Clark in 1940.
Clark recognized that in most industries the number of business firms is not so great as to preclude an
individual firm from having some power to influence market prices and conditions. In addition,
participants rarely have complete knowledge of market conditions. According to Clark, however,
departures from the ideal of perfect competition often are not great enough to warrant government
intervention into the market ( through antirust action or direct regulation) in order to improve the
situation. Competition may be workable in the sense that the results achieved are roughly comparable
to what is supposed to happen under the theoretical ideal of perfect competition. The chief drawback
to the workable-competition concept is its vagueness; no precise criteria have been developed to
determine when workable competition actually exists.

Questions ;
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. Under the competitive market, buyers and sellers

A. try their best to satisfy each other’s interests

B. acts to serve the needs of society ignoring their own interests
C. interact to establish prices and exchange goods and services
D. try to serve the society at the lowest possible prices

. “ Perfect” competition refers to conditions where

A. maximum effectiveness of competition would be achieved

B. There are few business firms as well as buyers

C. The companies on the average are very big

D. Competition would be workable

. The practical significance of a large number of small firms and many buyers is that the power to

influence the behavior of the participants in the market is thoroughly dispersed.

A. distributed widely

B. disappeared completely

C. vanished gradually

D. driven off completely

. Which of the following statements is NOT true according to the passage?

A. Perfect competition exists only in developed countries.

B. Actually, there are often no perfect competitions in most markets

C. The concept of “ workable” competition is a more realistic alternative to evaluate
performance on specific markets.

D. The American economist John M. Clack developed the concept of “workable” competition
in 1940.

. If the results achieved are roughly comparable to what is supposed to happen, you may say that

competition may be

A. perfect

B. profitable

C. theoretical

D

. workable
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II. Fill in each blank of the following sentences with one of words or phrases listed below and

make changes if necessary: 10 %

withdraw operate ensure provide specify

prosperous reputation negotiate refer to provision

26. That company  in several countries and regions.

27. Once the L/C is opened, it should not be by the buyer without the permission from the
seller.

28. The rules clearly ~  that competitors are not allowed to accept payment.

29. Ambiguous  in the contract will be a bottleneck for the two parties to fulfill the contract.

30. A firm of high ~ can get loans from the bank easily.

31. For the details please =~ the Attachment to the Contract.

32. We shall be grateful if you can ~ with all possible information on your air - conditioning
manufactures.

33. The company will send a representative to ~ the business with you in person.

34. At no time has the business been more ~~ than at present.

35. They have done everything possible to ~ the prompt delivery of the goods.

IV. Put the following terms into English 10 %
36. HaXFHLFA
37. A% 2R A

38. ENTiY
39. hrH%
40. HREFEIL
41. BTiEHIE
42. JHIEAT

43. R R RS
4. ARG KX
45. KPiBE LR
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46.

47.

48.

49.
50.

51.
52.
53.
54.
55.
56.

. Put the following sentences into Chinese. 20 %

We attach a list of our products and we believe that some of these items will be of interest
to you.

If the document received by the importer has mistakes, it may lead to excessive duties or fines
and penalties.

The production of goods is a waste of resources unless those goods can be sold at a fair price
within a reasonable time span.

The measures adopted by the company would conduce to the settlement of the problem.
Economic competition is the means whereby the self-interest of buyers and sellers acts to serve

the needs of society as well as those of individual market participants.

. Put the following sentences into English. 30 %
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